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0204. LESSON 3 HW SOLUTIONS

Sin✗+3

① fcx)= e - Tx on [4,9]
f- is continuous on [4,9] f- is differentiable on (4,9 )

AVE RATED = fC9g)[fyC4)_ =
3.981 * make sure 0 ENTER

[ 4,9 ] FOR DECIMAL

f-
'
(X) = 3.981 at ✗ = 5.233

✗ = 7.777 } on ( 4,9 )

② fcx)= Cos (Sincil) [ 0
,
1.2 ]

f- is cont
. on [0,1*2] f- is diff. on (o, 1,2 )

Ave RATED
= fcg.gg#0) = -0.377

[0,12]

f- '(X ) = - 0.377 at ✗ = 0.594

✗ = 1.173 } on (9%2)
③ gcx> = X

>

+ 4x on [-3,6]

g is cont . on [-3,6 ] g is diff . on C-3,6 )

Ave RATED = gC6z÷=(216+2419-1--2>-12
)

[-3/6]

= 24ogt39_ = 27¥ = 31
336 gÉ✗)= 3×2+4 = 31

×÷ ✗2=9 ✗ =-\3 or✗ on C-3,6 )
u

not on927£ C- 3,6)



④ gcx) = ✗
3-2×2 + x + 3 E- 1,1]

giscont.cn

iÉ,;EÉi+AVE RATED = ga) -gC-1)
E-1,1]

= ¥ = 2

g
/

(X) = 3×2-4×+1 = 2

3×2-4×-1 = 0

E-
FACTORABLE

✗ = "±rÉ-=4±F÷
= 41¥28 = 4±÷T = 2±z

on C-1,1)

Ñ#goo big not on C-41)

µg?⃝ •
•
•

Fi > 2 → 2+2>4→ ¥ > 1

11 Hmmm
2 < V7 < 3 → 3 L -F < 2

2- v5
< g-

< 0



⑤ f-(X) =¥2 on [0,2]

f- isnt continuous on [0,2]

Namely f- is not continuous at ✗ = I

⑥ fix) = ✗
"3 [-8,8]

f- is cont . on [-8,8]

g- Kx ) = 35
"
}

= 3¥13

f- isN
differentiable on C-8,87

Namely f- is not differentiable at ✗ = 0

⑦ f-is cont and f is diff

AVERATEO = -2,124,6£ = ¥ = -7
[10,12]

f-
'

(X) = -7 on (10/12) Maui -1

AVERATEAO = = ÷[ 12,1s]
f- '1×1=19-3 on (14/5) M.v. -1

f-Tx ) goes from
-7 to

'43 so f- 4×7=0 at least
one time on [io, 's] I.V.T



⑧ flx) = X
>

-7×+6

A] g- f- c- 1)
= 5- 4-1) (✗ + 1)

f- C- 1) = -1+7+6 = 12 } Y
- 12=-4 (✗ + 1)

f-4×1=3×2-7
OR Lcx) = 12 - 4 (✗+ 1)

f-
'
C-1) = 3-7 = -4

B) f- C-1.02) I 21-1.02) = 12-4-(-1.02+1)
= 12 - 4 (-0.02) = 12.08

12 O

c] AVERATEO =fc% =(+z+E >
= 6[1,3]

D) f- Ex)= 3×2-7=6 ✗ 2=3

✗ = or X=Ñ#
ou ,

⑨ f-G) = 21s on (-4-3) M-v.T

f-
'

(x) = -31 on ( -3, -2) M -u-T
.

f-4×7=0 on [-4-2] I. VT

f-G) = - l on ( 0,1) m.int

f- '(4) = 21 on [1,2) Mint

f-4×1--0 on [0,2 ] I. V. T

f- 4×1=0 at least tu= times on [4,2]



good

f-oo.am. *②

dr -3-8

--_- _-r-h-____----

µ⑥a9BBBB€• 0

?⃝A is local Max at ✗ =L

•

•

.
A- is abs. max at ✗ =z


